Corrigé

Xx+2y+3z=-5/El X+2y+3z=-5 X+2y+3z=-5
0y 4y+122=-32/3E1-E2 & {y+32=-8/E2:4 & y+3z=-8
Sy+7z=-16 / 2E1-E3 Sy+7z=-16 8z=-24 /SE2-E3
Le systéeme admet une solution unnique:
z==-3;,y=-8-3z=1; z=-5-2+9=2 I(x;y;z)=(2;1;—-5|
x=0+k x=14+2a+b
() 1) {y=1-k 2)(P){ y=I1+a  équation cartésienne:|[x —y—z+1=0|
z=2+k z=1+a+b
3 k=-1+k-2-k+1=0k=2 Point d’intersection P(2;-1;4)

I) 1)4eCjeCi =40280276=130912
2.a) A; +AJ +AZ =336+210+60 =606

2b) A — A =6840-2730=4110= 3]1320+900+ 60
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avy 1 2—2x<%+l-x¢>x>%

2) domaine: D =E%[ x-1)?=(3-2x)(4x-3) & 6x2-11x+5=0 s={1;-§-}

2Inx
A% DIf=1:f'"(x)=2x~ :f'(1)=2 équation de la tangente : |y = 2x —1
V) 1@ x) = F quatio g

1 5
2)[F(x)=—e** =™ +=
) [F(x) > 5
' 2x 2x 1 2x 1 2 -3 1 2
3) PPP:u=2x ;v'=e" F(x)=xe —Ec ;F(l)=Ee ;F(O)=?; I=E(c +1)

(VI) Intersection : 4x —x’ =XT+3<:)2xz -7x+3=0&x=30ux=

3 3 3
Aire = I[4x—x2 —lx—g}dxj‘[—xz +1x—éjdx =[—1x3 +1x2 —ix:I =2-_—”=£unités
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